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B.A./B.Sc. 1st Semester (Honours) Examination, 2018 (CBCS)

4

ASH-1/Geo/CC-1I/18

Subject : Geography
Paper : CC-II
(Theory)
Time: 2 Hours Full Marks: 40

The figures in the right hand margin indicate full marks.

Candidates are required to give their answers in their
own words as far as practicable.
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Section-A

1. Answer any five from the following questions: 2x5=10
fafeiie sMele T @ @ 5 g e ws ¢

(a) What is vernier constant?

eIt famm |

(b) Mention the uses of diagonal scale.

TS @ TR0 @l

{¢) What do you mean by perspective projection?
s SferEe qIe @I

(d) What is developable surface?
Ry eet 2

(e) What do you mean by ‘throw’ and ‘heav:a"?
@l 93 TS TS T @R

(f) How dip valley can be identified from a geological map?
weifgs Wb afs Tsiel Fleltq #-le sqi A2

(g) Write the R. F. of the following topographical maps.
feafefe Giestiafres Tmbasfm R. F. @l
1 72E (if) 65 J/9

(h) Mention the signification of dissection index in relief interpretation.

el iR walbes Apred wwy SEd S|

9727 Please Turn Over
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Section-B :
2. Answer any two from the following questions: 5x2=10

ferfiie amelm W& & @ 76 2one Ted WS ¢

(a) The perimeter of a square ground is 1648 metre. Calculate the R. F. when one side of

the gr%und is measured as 1-03 cm on map. 3

. (6 qofieia Meoq AT 1648 Kbl | bt & Wofa 9=l aied 7 1-03 cm =it
112 4l 2= WAbavd R. F. 997? o

(b) Mention two characteristics of comparative scale. 2

CEIEE (RETE U (@R TR |
“3.  (a) Mention two identifying characteristics of each of the following rocks and minerals.
(i) Gneiss (ii) Dolerite  (iii) Calcite 3
e M e Afmsfan areeba wf s “mresad e @l
() P (i) COIeTERS (i) TR
(b) What is cleavage plane?
T O 2
4. (a) What do you mean by polar and rectangular co-ordinate? 3
G=F Z% ¢ NOrHGF BT 00 o QIR ?
(b) Find out length of 40° N latitude on Bonne’s projection given R. F. 1:100,000,000. 2
T SfOCTo @A 40° g SRCEHE g g S| gwe R, F. 1:100,000,000

5. (a) Mention characteristics of contour alignment in a topographical map showing escarpment

(8]

and conical hill with illustration. 7
GreAiaifesler Aot $eeh @ %7 Wigfed 221G e Amformaiy e @ etz
=T |
(b) What is projected profile? 2
wifefre (ArFea Fe
Section-C
Answer any two from the following question;: 10x2=20

kRS deelerm St @ e 7 dosa Sed Tie ¢

6. (a) Do necessary calculation to draw a.diagonal scale to read 576 km. with

\ R. F. 1:50,00,000. Show value and number of primary, secondary and tertiary division
in a table. (Don’t draw the scale) 6

576 km 215 S T G GF6 SR G S0 G LS St FE @A
R. F. 1:50,00,000 | 52y, ¢l & 2ot Sitoig T @ 7=AN 96 20 @€ | (@l SiFla
AT (2)

(b) Scale of the original map is 1:50,000. What would be the new R. F. if its magnitude of
reduction is 1/4th by length. 4

@ I+ MHeET @ 1:50,000 IBET (3RS G Tl 1/4 2051 gl Mbr@d R, F. Fo7
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(a)

(b)

(b)

(3) ASH-1/Geo/CC-1I/18

Calculate the amount of true dip and true thickness of Limestone bed of carboniferous
series from the given Geological map (Map No. 1). Show necessary drawing on the map
and artach it with the answer script. 3+3=6

g7 pelfes Aalba (Map No. 1) (A FIEHES 0919 Limestone BE age i @
sfelgel T el | Webog AaieE wEmT @S | @?WWWWTWI

Interpret the geological history of the region from the given geological map.

(Map No. 1) 4
2w golfgs Tba (Map No. 1) Sialbs goifes Sfen i ww@t e

Do necessary calculation for drawing of graticules on Simple Conical Projection with two
standard parallels for a map of India on a scale 1:40,000,000 at an interval of 4° ‘with
the extension 8°N —40°N and 68°E — 96°E.

Consider 16°N and 32°N as standard parallels. (Don’t draw the projection) 6

yfb 2T SRS Hae *efd TSTHA 89T SIred WHbg S Ty sl T, T4
R. F. 1:40,000,000 3414 4° ¢ 315 8°N — 40°N and 68°E — 96°E | 25 SFcaal! 31l
16°N € 32°N SFFEAE 9 6 | (Sermih IsEme awied =3)

What do you mean by Aznnuthal projection and cylindrical projection? 4

Wﬂﬁ@ﬁwﬁeﬁwmﬂ—m—%mﬂa

Total number of contour crossing (counted along the perimeter of each square) obtained
from 4 sq cm grid on topographical map with R. F. 1:50,000 and contour interval of 20m
has been shown in the following table (Table — 1). Calculate slope of each grid following
Wentworth’s method. (Show necessary calculation) 6
1:50,000 €% '€ 20 metre sl (T4 TIKLE Geonalfzraia w09 4 sq cm 576 (A
2l ACTATS (1 <=0 G5 Tk (efs ofemoas =i <aiag st 3 e GRe
(Il AR (Table — 1) | Wentworth #afs SISt aifef f&mea v sifsid sia <=
(AEneE Seml orle)

Table-1

Grid No. Total No. of contour crossing
(fere sigan) ARSI TR (@G AR
52
74
89
55
60
68

N B W N -

The latitude and longitude of south western corner of Topographical Map 73N/9 is
22°45°N and 87°30°E respectively.

3N/9 g& Srofiaifelel wiafbrga wie-sifoT Zicgd srmied @ mIfkwie INFE 22°45'N
8 87°30°E |



(b)

(b)
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Calculate the amount of true dip and true thickness of Limestone bed of carboniferous
series from the given Geological map (Map No. 1). Show necessary drawing on the map
and attach it with the answer script. 3+3=6
owe gellgs I 54 (Map No. 1) (qCF @ﬂﬁ?ﬁﬂ‘ﬂ el Limestone €S 2ee s € 2%%
srSiel T @l | TS A W (e | GeFeiigs AT VAbale w2 IE I

Interpret the geological history of the region from the given geological map.
(Map No. 1) 4

2irs geifgs Aeba (Map No. 1) S0 weifes Bfoal an w@ll

—

Do necessary calculation for drawing of graticules on Simple Conical Projection with two
standard parallels for a map of India on a scale 1:40,000,000 at an interval of 4° with

the extension 8°N —40°N and 68°E — 96°E.
Consider 16°N and 32°N as standard parallels. (Don’t draw the projection) 6

Y% 2l SRS e AE FOTHCAAL €7 SINeed AAbd SECT Ty A FL, T4
R. F. 1:40,000,000 T<4lq 4° € T%E 8°N — 40°N and 68°E — 96°F | &ulle] Sl festica
16°N 6 32°N SFRAIE o ol | (wferaal wwre dred ¢1R)

What do you mean by Azimuthal projection and cylindrical ‘projection? 4
s Sermel @ (eighe aferss e I @t

Total number of contour crossing (counted along the perimeter of each square) obtained
from 4 sq cm grid on topographical map with R. F. 1:50,000 and contour interval of 20m
has bee.n shown in the following table (Table — 1). Calculate slope of each grid following
Wentworth’s method. (Show necessary calculation) 6
1:50,000 (%51 '€ 20 metre AW €L IS GroAIREF THHGE 4 sq em fale (2w
siies TS (42 TARME (5 A<y (2ifs Fofewea S <@ s ) Aod GRE
I TR (Table — 1) | Wentworth #afe SeRis 2fefb faes viera sifsstieh siom el
(TRIGE Sl (rAe)

Table-1
Grid No. Total No. of contour crossing
(fare #1e207T) SCeiferEal AW @6 A
1 32
2 74
3 89
4 55
5 60
6 68

The latitude and longitude of south western corner of Topographical Map 73N/9 is
22°45°N and 87°30’E respectively.

73N/9 & Sealalifes nfbrag wiwe-oow Altgd SRk ¢ Tifeanes 9@ 22°45°N
8 87°30°E |
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